
NOTICE: THE INFORMATION CONTAINED ON THIS DRAWING IS
PROPRIETARY TO VERMEIREN GROUP AND SHALL NOT BE DISCLOSED IN
WHOLE OR IN PART, OR USED FOR ANY DESIGN OR MANUFACTURE,
EXCEPT WHEN SUCH USER POSSESSES DIRECT WRITTEN AUTHORISATION
FROM VERMEIREN GROUP

3998190

SV CERES SE REAR WHEEL Plan No.
EC00321/T

Scale: 1:6 Drafted Verified Confirmed
Date 30/12/2016 12/12/2023 12/12/2023

Initials KZ PM MK

Sheet 1/2

VERMEIREN

3

5

6A

7

7

9

10

10

11

12

13

14

15

16

17

18 19

20

20

21

22

23
23

25

25

26

26
27

28
29

30A

31

32

33

34
35

36

37

38
38 39

39

40

40

42

42

43

44

45

46

48

4

1* 2*

8

2441
41 40

37

16

40

37

4747



No. Plan Article Qty
1* YC01799 1C62304 1
2* YC01797 1C62404 1
3 YC01727 1C56404 1
4 YC01725�DP 1C56204 1
5 YC01724�DP 1C56104 1

6A YC01790 1C64504 1
6B YC01706 1C55404 1
7 YC00613 1C22204 2
8 XP00545 GP03900 2
9 XC00564 3992376 1

10 XC00512 3992565 2
11 XC00508 3991989 1
12 XC00486 3992041 1
13 XC00459 1C54305 1
14 X004744 1737100 1
15 X004436 1903928 2
16 X001016 1001682 4
17 M6x8 3993238 2
18 --- 3992652 1
19 Washer 3992647 1
20 --- 3992563 2
21 M4x40 3992407 2
22 M4x35 3992264 2
23 M10x55 3992161 4
24 --- 3991959 1
25 Washer 3991137 2
26 M8x25 3991119 2
27 Nut 3991110 2
28 M6x40 3991108 2
29 Wheel 3990909 2

30A Controller 10Km/h 3990622 1
30B Controller 15Km/h 3990623 1
31 M6x8 3992968 4
32 --- 1992510 1
33 M6x35 1903903 1
34 M8x35 1007516 2
35 M6x35 1006057 2
36 Washer 1005138 2
37 M8x45 1003110 2
38 M8x35 1003067 2
39 Nut M10 1001683 4
40 Nut M6 1001680 5
41 Nut M4 1001678 4
42 Washer 1001570 2
43 Washer 1001566 4
44 Washer 1001564 2
45 Washer 1001558 4
46 Washer 1001554 1
47 M6x25 1001494 2
48 M6x20 1001493 2

1*, 2* - Only for 15Km/h
6A, 30A - Only for 10Km/h
6B, 30B - Only for 15Km/h

|

NOTICE: THE INFORMATION CONTAINED ON THIS DRAWING IS
PROPRIETARY TO VERMEIREN GROUP AND SHALL NOT BE DISCLOSED IN
WHOLE OR IN PART, OR USED FOR ANY DESIGN OR MANUFACTURE,
EXCEPT WHEN SUCH USER POSSESSES DIRECT WRITTEN AUTHORISATION
FROM VERMEIREN GROUP

3998190

SV CERES SE REAR WHEEL Plan No.
EC00321/T

Scale: 1:6 Drafted Verified Confirmed
Date 30/12/2016 12/12/2023 12/12/2023

Initials KZ PM MK

Sheet 2/2

VERMEIREN


